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The running time T(n) of 3 algorithms are represented by the recurrence relations given below. Where a, b and c are constants.
Solve each of the recurrence relation by iteration and then determine the big-O complexity of the algorithm. Verify each of your answer by the Simplified Master Theorem.
You may find the following summation formulae useful:
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if  x ≠ 1


Question#1:
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Question#2
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Note: Assume that n is a multiple of 3, i.e. n = 3k
Question#3

T(n) = a     if n = 1

T(n) = 4T(n / 2) + b
if n >= 2
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